Person A: _________________________		                             Person B: _________________________

Row Game:  Decimal Order of Operations

Instructions: Person A solves the problems in column A, while Person B solves the problems in column B.  As you finish each problem, check your answer with your partner.  The answers should be the same!  If they are not, work together to find your mistake.

	Person A
	Person B

	1)    4.7  +  6.3  −  1.2
	1)    12.4  −  4.3  +  1.7 

	2)    5  −  3.3  +  8.6
	2)    8.6  +  4.5  −  2.8

	[bookmark: _GoBack]3)    3  ×  3.2  +  5.1
	3)   20.7 −  1.2  ×  5

	4)   15.1 −  4.1  ×  3
	4)   1.7  ×  6  −  7.4

	5)   2.8  +  6.1  ×  3  −  4.9
	5)   11.1  −  4.8  ÷  3  +  6.7

	6)   13.4  −  7.2  ÷  6  +  2.1
	6)   3.7  +  4  ×  5.1  −  9.8

	7)   (35.78  −  17.38)  ×  2.5
	7)   2.3  ×  (12.32 + 7.68) 

	8)  (8.71 + 7.44 )  ÷  0.5
	8)  6.46  ÷  (9.1  -  8.9)

	9)  4.41  ÷  (2.58  −  2.28)  +  4.5
	9)   8.3  +  9.81  ÷  (3.41  −  2.51)

	10)  7.2  ÷  (5.1  +  0.9)  ×  8.5 + 7.78
	10)   0.48  +  12.6  ÷  (2.1  −  1.2)  ÷  0.8




